
Inversion L6.1

Inversion
Antecedents and Succedents

Antecedents, not left invertible, unordered Γ ::= A⊃B | P | · | Γ1,Γ2

Antecedents, ordered Ω ::= A · Ω | ϵ
Succedent, not right invertible C ::= A ∨B | ⊥ | P

Judgments.

Right inversion Γ ; Ω
R−→ A

Left inversion Γ ; Ω
L−→ C

Choice Γ ; ϵ
C−→ C

Rules.

Right Inversion.

Γ ; Ω
R−→ A Γ ; Ω

R−→ B

Γ ; Ω
R−→ A ∧B

∧R
Γ ; A · Ω R−→ B

Γ ; Ω
R−→ A⊃B

⊃R
Γ ; Ω

R−→ ⊤
⊤R

Γ ; Ω
L−→ A ∨B

Γ ; Ω
R−→ A ∨B

LR
Γ ; Ω

L−→ ⊥

Γ ; Ω
R−→ ⊥

LR
Γ ; Ω

L−→ P

Γ ; Ω
R−→ P

LR

Left Inversion.

Γ ; A ·B · Ω L−→ C

Γ ; (A ∧B) · Ω L−→ C
∧L

Γ ; A · Ω L−→ C Γ ; B · Ω L−→ C

Γ ; (A ∨B) · Ω L−→ C
∨L

Γ ; ⊥ · Ω L−→ C
⊥L

Γ ; Ω
L−→ C

Γ ; ⊤ · Ω L−→ C
⊤L

Γ, A⊃B ; Ω
L−→ C

Γ ; (A⊃B) · Ω L−→ C
LL

Γ, P ; Ω
L−→ C

Γ ; P · Ω L−→ C
LL

Γ ; ϵ
C−→ C

Γ ; ϵ
L−→ C

CL
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Inversion L6.2

Choice.

Γ ; ϵ
R−→ A

Γ ; ϵ
C−→ A ∨B

∨R1

Γ ; ϵ
R−→ B

Γ ; ϵ
C−→ A ∨B

∨R2

Γ, P ; ϵ
C−→ P

id∗
Γ, A⊃B ; ϵ

R−→ A Γ, [A⊃B] ; B
R−→ C

Γ, A⊃B ; ϵ
C−→ C

⊃L

Loop Checking.

(fail, if Γ ⊆ Γ′ and C = C ′)

Γ ; ϵ
C−→ C

...

Γ′ ; ϵ
C−→ C ′

LECTURE NOTES TUESDAY, MARCH 20, 2023


